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Division 301

Why was six afraid of seven? Because seven, eight, nine!

Divide these numbers. HOW MANY?
Example: How many 3's go into 67

1. 3+3= 18. 15+3= »27+3=
2. 18+ 3= 190 24 +3 = ¥ 6+3=
3. 21+3= 0. 12+3= % 9+3=
4 30+3= 21. 3+3= ¥ 24+3=
5. 27 +3= 2. 9+3= 3. 21+3=
6. §+3= 23. 27 +3 = 40. 12 +3 =
" 3+3= 24..18+3=__ = M 12+3=
8 15+13= 25. 27 +3= 4. 24 +3 =
9. 9g=x3= 26. 15 =3 = 8. 21 +3=
10. 18 = 3 = 27. 30+ 3= . 21+3=
1. §+73= 28. 3+3= . 9+3=
12. 94+ 73 = 29. 27 +3= 4. 18+ 3=
13. 15+3 = 3. 12 +3= A 6+3=
14. 30+ 3 = 3. 21 +3= 8. 27 +3=
15, 3+3= 32. 24 +3= 49 18 +3=
16. 18 +~ 3 = 3. 27 +3= 0. 12+3=
17. 30+ 3= 4. 9+3=
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Why was six afraid of seven? Because seven, eight, nine!

Divide these numbers. HOW MANY?
Example: How many 3's go into 67

L 3:3=1 18 15+3=5 3. 27+3=9
> 18+3=6 19 24+3=38 ¥ 6+3=2
% 21+3=7 20.12+3=4 3. 9+3=3
4 30+3=10 2. 3+3=1 3% 24+3=8
5. 27+3=9 2. 9+3=3 3¥21+3=7
6 6+3=2 3. 27+3=9 4. 12+3=4
7 3+3=1 24 18+3=6 H-12+3=4
5 15+3=5 % 27+3=9 2 24+3=8
%° 9+3=3 % 15+3=5 8. 21+3=7
0. 18+3=6 27. 30 +3=10 “4.21+3=7
1. §+-3=2 8. 3+3=1 4% 9+3=3
12. 24 +3=8 29. 27+3=9 4. 18+3=6
13 15+3=5 0. 12+3=4 “. +3=2
14.30+3=10 3L 21+3=7 % 27+3=9
5. 3+3=1 2. 24+-3=8 9. 18+3=6
6. 18+3=6 3. 27+3=9 0 12+3=4
17..30+3=10 3. 9+3=3

© Facilitators Ferriswheel WS#:Div301 Score:



